Weekly Arithmetic 10 a day w/b 18.5.20
Monday Tuesday

1.27+2= 1.28- 2=
2.29+3= 2.39-2=
3. 22+1= 3. 50-2 =
4, 28+ 2= 4. 45 -1 =
5. 23+4= 5. 42-3=
6. 26 +3 = 6. 33-4=
7.29+3= 7. 43 - 3=
8.24+5= 8.50-2=
9.29+10= 9.42-4=___
10. Sam has 25 cakes. Ben

has 10 more cakes than Sam.

How many cakes does Ben

2
haves 10. Fred says

this shape is a triangle. Is he
righte Why?¢




9.

Wednesday

. Half of 10 =

. Half of 8=

Half of 4 =

Half of 20 =

. Half of 6 =

. Halfof 12 =

Half of 2 =

Half of 14 =

Half of 16 =

10.

9.

Thursday

. 14+ 6=

.10+ 10=

13+7 =

9+11=

16+ 4=

21+ 9=

.20+ 10=

24+ 6=

22+8=

10.




